Mastercraft

MAXImon,

INSTRUCTION MANUAL

STORAGE CABINET

068-1221-8 |(



Vincent
16234A
51.5 kg/ 113.5 lb
1854 mm/ 73 in
500 mm/ 19.9 in
250 mm/ 9.9 in



2,
£

If any parts are
missing or damaged,
or if you have any
questions, please call

1-800-689-9928.

Read and understand this instruction manual
thoroughly before using the product. It contains
important information for your safety, as well as
operating and maintenance advice.

Keep this instruction manual for future use. Should
this product be passed on to a third party, this
instruction manual must be included.

STORAGE CABINET 068-1221-8

M_/;r .

>



*

A
N . .
Tall Storage Cabinet-068-1221.book Page 2 Friday, September 6, 2013 1:54 PM

TECHNICAL SPECIFICATIONS 3
SAFETY GUIDELINES 4
EXPLODED VIEW 5
PACKAGE CONTENTS 6-8
ASSEMBLY INSTRUCTIONS 9-11
WARRANTY 12-13

STORAGE CABINET 068-1221-8

%

Mastercraft

b
—4

TABLE OF CONTENTS RB¥

IMAaimunm

%

-

A2
>



A
2 . .
Tall Storage Cabinet-068-1221.book Page 3 Friday, September 6, 2013 1:54 PM

.
—®

Component Maximum load
Each shelf 200 1b (90 kg)
Bottom panel 400 Ib (780 kg)

Note: Maximum load for the storage cabinet is 1000 Ib (450 Ag).

TECHNICAL SPECIFICATIONS R

STORAGE CABINET 068-1221-8

-

T
A

4 ¢



J é Tall Storage Cabinet-068-1221.book Page 4 Friday, September 6, 2013 1:54 PM

Safety guidelines

This manual contains information that relates to PROTECTING PERSONAL SAFETY and PREVENTING
EQUIPMENT PROBLEMS. It is very important to read this manual carefully and understand it
thoroughly before using the product. The symbols listed below are used to indicate this information.

CAUTION!
Potential hazard that may result in
moderate injury or damage to equipment.

Note - The word “Note” is used to inform the
reader of something the user needs to know
about the tool.

SAFETY RECOMMENDATIONS

These precautions are intended for the personal safety of the user and others working with the user.
Failure to follow these instructions may result in a permanent loss of vision, serious personal or even
fatal injury, property damage and/or tool damage. Please take time to read and understand them.

CAUTION!
Potential hazard that may result in moderate injury or damage to
equipment.

¢ The cabinet should be positioned on a level surface.

e This cabinet is intended for indoor use only.

e Check all nuts and bolts periodically and tighten them, if required.
e Use a slightly damp, soft cloth to clean the storage cabinet.

¢ Do not stand on the storage cabinet and do not use it as scaffold.
¢ Do not exceed the weight limit specified for this storage cabinet.

e Any assembly or maintenance of the cabinet must be carried out by adults
only.

¢ Do not assemble or move the cabinet without necessary manpower.

——,

Mastercraft

s

SAFETY GUIDELINES @S

STORAGE CABINET 068-1221-8 Mm

ﬁ%

—%

Z0N

2N



Tall Storage Cabinet-068-1221.book Page 5 Friday, September 6, 2013 1:54 PM

EXPLODED VIEW R

VY

Y

AN
N

Mastercraft

IMAXIIonm;

0

Y
AR
RN

W
AN
NN
NN
DA
MRASAN
AN
RN
VAR

AT Y
DN

Y
NN

5L

s
33
X
&3

V)
\ RN
SSNS

=
<
<
3

NN
A
A
AN

NN

YA \/\’\’\
i
A

2
3
5
3
&
SEsS
433
<
&

255

RSN
A
AN
AN

2

o

STORAGE CABINET 068-1221-8

MC-681221-01




Sz,
ZIN

J é Tall Storage Cabinet-068-1221.book Page 6 Friday, September 6, 2013 1:54 PM

b

PACKAGE CONTENTS g

Name No. Qty lllustration

Left panel 1 1 %
Right panel 2 1 %
Top panel 3 1 %
Bottom panel 4 1 %
Middle shelf 5 3 %

Left door 6 1 \

Right door 7 1 \
Upper back panel 8 1 %
Middle back panel 9 2 %

——,

Mastercraft

STORAGE CABINET 068-1221-8 Mm

%

A2
>



% J é Tall Storage Cabinet-068-1221.book Page 7 Friday, September 6, 2013 1:54 PM

Bottom back panel 10 1
Hook 13 12
Bumper 14 4
Corner protector A 15 2

Corner protector B 16 2 X |’

PACKAGE CONTENTS ™~

M4 X 18 screw 18 16
2)
M4 X 8 screw 19 80
M4 X 30 screw 20 6
Screwdriver
(not shown) 21 1
R——

M\;‘M STORAGE CABINET 068-1221-8

= 4+ “#ffe



J é Tall Storage Cabinet-068-1221.book Page 8 Friday, September 6, 2013 1:54 PM

s

Key
(not shown) 22 2 — @
Magnet 23 2 <
g S
>
Leveling foot 24 4
Wrench 25

STORAGE CABINET 068-1221-8

%

| @
PACKAGE CONTENTS oo

——,

Mastercraft

IMAXIMUnm,

—%

&
7N



% J é Tall Storage Cabinet-068-1221.book Page 9 Friday, September 6, 2013 1:54 PM

Assembly preparation
e Assemble the storage cabinet on a clean, level surface.
e Remove all items from the packaging box and ensure that all parts listed on pages 6-8 are
included.

e When installing parts that have more than one screw, tighten all screws by hand before
tightening them with the screwdriver provided.

Assembly instructions

1. Attach the left panel (Part 1) and right
panel (Part 2) to the top panel (Part 3).
Insert three M4 X 8 screws (Part 19) into
each side of the panels and tighten them
using the screwdriver (Part 21) (fig A).

Note: Make sure the front of the cabinet frame is
facing down. Once the cabinet frame is
assembled, turn the cabinet frame to the upright
position to attach the back panels.

Note: As the cabinet frame is assembled upside
down, use carpet or blanket while assembling
the cabinet so that cabinet front does not get
scratched.

2. Attach the left panel (Part 1) and right
panel (Part 2) to the bottom panel
(Part 4). Insert three M4 X 30 screws
(Part 20) into each side of the panels and
tighten them using the screwdriver
(g B).

ASSEMBLY INSTRUCTIONS ¢

2
@{ MC-681221-03

m STORAGE CABINET 068-1221-8

%

WA

il

US>



J é Tall Storage Cabinet-068-1221.book Page 10 Friday, September 6, 2013 1:54 PM

s

—h
Q

3. Attach the bottom back panel (Part 10),
middle back panels (Part 9) and upper
back panel (Part 8) to the assembled
cabinet frame. Starting from the bottom
back panel, insert the M4 X 8 screws
(Part 19) into the screw holes of all the
back panels and tighten them using the
screwdriver (fig C).

Note: Two screw holes for corner protectors MC-681221-04)
are reserved across the top panel and the
bottom panel.

4. Install the leveling feet (Part 24) on the
bottom panel (Part 4) using the wrench
(Part 25) (fig D).

5. Turn the cabinet frame to the upright
position.

6. Choose the desired height for placing
each middle shelf (Part 5) inside the
cabinet. Then pull down the hooks (Part
13) into the hook slots provided, making
sure the four hooks are placed at the
same height. Place the shelves into the
cabinet frame and press them down
onto the hooks (fig £).

7. Attach one of two magnets (Part 23) to
the top panel (Part 3) and another fig F
magnet to the bottom panel (Part 4).
Insert two M4 X 8 screws (Part 19) into
each magnet and tighten them using the
screwdriver (g ).

\g@

777
:

MC-681221-07|

Mastercraft

ASSEMBLY INSTRUCTIONS

STORAGE CABINET 068-1221-8 Mm

ﬁ%

&
7N

—%



J é Tall Storage Cabinet-068-1221.book Page 11 Friday, September 6, 2013 1:54 PM

L
== N

ASSEMBLY INSTRUCTIONS

§

8. Attach the left door (Part 6) and right
door (Part 7) on corresponding sides of
the cabinet frame. Insert 10 M4 X 8
screws (Part 19) into the doors and
tighten them using the screwdriver
(g G).

9. Place the bumpers (Part 14) on the
bottom panel. Insert four M4 X 18
screws (Part 18) into the bumpers and
tighten them using the screwdriver. Then
place the corner protector A (Part 16)
and corner protector B (Part 15) on the
top panel (Part 3). Insert five M4 X 8
screws (Part 19) into each corner
protector and tighten them using the
screwdriver (fig H).

10. The storage cabinet is ready to be used.
Use the keys (Part 22) to lock the left
door (Part 6) and right door (Part 7), if
desired (fig /).

astercraft

STORAGE CABINET 068-1221-8

ﬁ%

MC-681221-08

MC-681221-09]

MC-681221-10

&
7N

—%



Mastercraft Maximum® limited warranty

This warranty is subject to the following conditions and limitations:
a.
b.

J é Tall Storage Cabinet-068-1221.book Page 12 Friday, September 6, 2013 1:54 PM

s

—h
N

This Mastercraft Maximum® product carries a five-year
limited warranty against defects in workmanship and
materials.

YEAR Subject to the conditions and limitations described below,
ANs this product, if returned to us with proof of purchase within
the stated warranty period and if covered under this
LIMITED WARRANTY warranty, will be repaired or replaced (with the same model,
DE GARANTIE LIMITEE or one of equal value or specification), at our option. We will

bear the cost of any repair or replacement and any costs of
labour relating thereto.

A bill of sale verifying the purchase and purchase date must be provided.

This warranty will not apply to any product or part thereof that is worn or broken or that has
become inoperative due to abuse, misuse, accidental damage, neglect, or lack of proper
installation, operation, or maintenance (as outlined in the applicable instruction manual or
operating instructions), or that is being used for industrial, professional, commercial or rental
purposes.

This warranty will not apply to normal wear and tear or to expendable parts or accessories
that may be supplied with the product that are expected to become inoperative or unusable
after a reasonable period of use.

This warranty will not apply where damage is caused by repairs made or attempted by others
(i.e., persons not authorized by the manufacturer).

This warranty will not apply to any product that was sold to the original purchaser as a
reconditioned or refurbished product (unless otherwise specified in writing).

This warranty will not apply to any product or part thereof if any part from another
manufacturer is installed therein or any repairs or alterations have been made or attempted by
unauthorized persons.

This warranty will not apply to normal deterioration of the exterior finish, such as, but not
limited to, scratches, dents, paint chips, or to any corrosion or discolouring by heat, or
abrasive and chemical cleaners.

This warranty will not apply to component parts sold by and identified as the product of
another company, which shall be covered under the product manufacturer’s warranty, if any.

——,

Mastercraft

S
—
.
<L
oc
<
=

STORAGE CABINET 068-1221-8 Mm

ﬁ%

—%

Z0N

2N



%J‘% J é Tall Storage Cabinet-068-1221.book Page 13 Friday, September 6, 2013 1:54 PM

b
(I%

Additional limitations

This warranty applies only to the original purchaser and may not be transferred. Neither the retailer
nor the manufacturer shall be liable for any other expense, loss, or damage, including, without
limitation, any indirect, incidental, consequential, or exemplary damages arising in connection with
the sale, use or inability to use this product.

Notice to consumer

This warranty gives you specific legal rights, and you may have other rights, which may vary from
province to province. The provisions contained in this warranty are not intended to limit, modify, take
away from, disclaim, or exclude any statutory warranties set forth in any applicable provincial or
federal legislation.

WARRANTY

Mastercraft

m STORAGE CABINET 068-1221-8

&
7N

1 4~ ~¢ffe



Mastercraft

MAXImon,

GUIDE D'UTILISATION

ARMOIRE HAUTE DE GARAGE
EN ACIER

068-1221-8




2,
E

Si des piéces manquent
ou sont endommageées,

ou si vous avez des
questions, veuillez appeler
1 800 689-9928.

Lisez et comprenez bien ce guide d'utilisation
avant d'utiliser le produit. Il contient des
informations importantes pour votre sécurité
ainsi que des conseils d'utilisation et d'entretien.

Conservez ce guide pour une
utilisation future. Si ce produit est transmis a un
tiers, alors ce mode d'emploi doit étre inclus.

ARMOIRE HAUTE DE GARAGE EN ACIER 068-1221-8

—

Mastercraft

2>



*

A
U . .
Tall Storage Cabinet-068-1221_FR.book Page 2 Friday, September 6,2013 1:56 PM

FICHE TECHNIQUE 3
CONSIGNES DE SECURITE 4

VUE ECLATEE 5
CONTENU DE L'EMBALLAGE 6-8
INSTRUCTIONS DE MONTAGE 9-11
GARANTIE 12-13

ARMOIRE HAUTE DE GARAGE EN ACIER 068-1221-8

%

Mastercraft

b
—4

TABLE DES MATIERES R¥

MAXIIIUn,

%

-

A2
A>



A
N . .
Tall Storage Cabinet-068-1221_FR.book Page 3 Friday, September 6,2013 1:56 PM

.

Composante Charge maximale
Chaque tablette 200 Ib (90 kg)
Panneau inférieur 400 Ib (780 kg)

Remarque : La charge maximale de stockage de I'armoire est de 1000 Ib
(450 kg).

FICHE TECHNIQUE [

——,

Mastercraft

Mm ARMOIRE HAUTE DE GARAGE EN ACIER 068-1221-8

%

el

—®

-

A2
>



J é Tall Storage Cabinet-068-1221_FR.book Page 4 Friday, September 6,2013 1:56 PM

Consignes de sécurité

Ce manuel contient des renseignements qui ont trait a la protection de la sécurité personnelle et a la
PREVENTION DES PANNES. Il est trés important de lire attentivement ce manuel et de bien le
comprendre avant d'utiliser le produit. Les symboles ci-dessous sont utilisés pour indiquer ces
informations.

ATTENTION!
Danger potentiel qui peut entrainer des
blessures ou des dégats matériels.

Remarque - Le mot « Remarque » est utilisé pour
informer |'utilisateur de détails a connaitre sur le
produit.

RECOMMANDATIONS DE SECURITE

Ces précautions sont destinées a la sécurité personnelle de I'utilisateur et autres personnes
travaillant avec |'utilisateur. Le non-respect de ces instructions peut entrainer une perte permanente
de la vue des blessures graves, voire mortelles, et des dégats matériels et endommager le produit.
Veuillez prendre le temps de les lire et de bien les comprendre.

ATTENTION!
Danger potentiel qui peut entrainer des blessures ou des dégats
matériels.

¢ L'armoire doit étre placée sur une surface plane.

e Cette armoire est destinée a une utilisation en intérieur.

¢ Resserrez tous les écrous et boulons, si nécessaire.

o Utilisez un chiffon doux Iégérement humide pour nettoyer |'armoire.

e Ne montez pas sur |'armoire, et ne I'utilisez pas comme échafaudage
pendant le montage.

e Ne dépassez pas la limite de poids spécifiée.

e Tout montage ou entretien de I'armoire ne doivent étre effectués que par
des adultes.

e N'assemblez pas I'armoire ni ne la déplacez sans la main-d'ceuvre
nécessaire.

——,

Mastercraft

s

CONSIGNES DE SECURITE g

ARMOIRE HAUTE DE GARAGE EN ACIER 068-1221-8 Mm

%

—%

Z0N

2N



Tall Storage Cabinet-068-1221_FR.book Page 5 Friday, September 6,2013 1:56 PM

NN
RN
RS
DA
MRASAN
A
R
VAR

AT Y
DN

VUE ECLATEE R

Y
NN

5L

B
33
X
&3

‘\:Q:t AR
Y Y

=
<
<
3

AR
R
A
AR

NN

YA \/\’\’\
i
A

2
3
5
3
&
SEsS
433
<
&

255

RSN
A
AN
AN

2

A
AR
YN
Y
N

——,

Mastercraft

M\XM ARMOIRE HAUTE DE GARAGE EN ACIER 068-1221-8

MC-681221-01




Sz,
ZIN

J é Tall Storage Cabinet-068-1221 FR.book Page 6 Friday, September 6, 2013 1:56 PM

b

CONTENU DE L'EMBALLAGE g

Nom N° de piéce Quantité lllustration
Panneau de gauche 1 1 %
Panneau de droite 2 1 %
Panneau supérieur 3 1 %
Panneau inférieur 4 1 %

Tablette 5 3 %
Porte gauche 6 1 \
Porte droite 7 1 \
Pannea}J ‘arriére 8 1 %
supérieur
Panneau arriere central 9 2 %

ARMOIRE HAUTE DE GARAGE EN ACIER 068-1221-8

%

——,

Mastercraft

IMAaimunm

A2
>



%% J é Tall Storage Cabinet-068-1221_FR.book Page 7 Friday, September 6,2013 1:56 PM

Panneau arriére
e 10 1
inférieur

Crochet 13 12

Pare-chocs 14 4

Protecteur de coin A 15 2
Protecteur de coin B 16 2 N |’

CONTENU DE L'EMBALLAGE ™~

Vis M4 x 18 18 :
)
e xs 19 80
s M x 30 20 6
Tournevis 21 1
At

ARMOIRE HAUTE DE GARAGE EN ACIER 068-1221-8

§

&
7N

4 -4




J é Tall Storage Cabinet-068-1221_FR.book Page 8 Friday, September 6,2013 1:56 PM

s

Clef 22 2 L @
i <<y
Aimant 23 2 %\@
>
Pied réglable 2% 4 @
Clé plate 25 1 //f//

ARMOIRE HAUTE DE GARAGE EN ACIER 068-1221-8

%

CONTENU DE L'EMBALLAGE oo

——,

Mastercraft

MAXIIIUn,

—%

&
7N




INSTRUCTIONS DE MONTAGE [

Préparation de montage

A
N . .
Tall Storage Cabinet-068-1221_FR.book Page 9 Friday, September 6,2013 1:56 PM

e Montez I'armoire de rangement sur une surface propre et plane.

e Retirez tous les éléments de la boite d'emballage et assurez-vous que toutes les pieces

énumérées précédemment sont disponibles.

e Eninstallant les pieces qui ont plus d'une vis, serrez toutes les vis a la main avant de les

serrer avec le tournevis fourni.

Instructions de montage

1. Fixez les panneaux gauche et droit
(1 et 2) sur le panneau supérieur (3).
Insérez trois vis M4 x 8 (19) de chaque
cOté des panneaux et les serrer a |'aide
du tournevis (21) (fig. A).

Remarque : Assurez-vous que I'avant du chassis
de I'armoire est orienté vers le bas. Une fois le
chassis de |'armoire monté, tournez le chassis
de I'armoire en position droite pour fixer les
panneaux arrieres.

Remarque : Comme le chassis de I'armoire est
monté a I'envers vers le bas, utilisez un tapis ou
une couverture lors de I'assemblage de
I'armoire de sorte que I'avant de I'armoire ne se
raye pas.

2. Fixez les panneaux gauche et droit
(1 et 2) sur le panneau de fond (4).
Insérez trois vis M4 x 30 (20) de chaque
cOté des panneaux et les serrer avec le
tournevis (7ig. B).

——,

Mastercraft

Mm ARMOIRE HAUTE DE GARAGE EN ACIER 068-1221-8

e

%

MC-681221-02]

MC-681221-03

WA

il

US>



Fixez le panneau arriére inférieur (10), le
panneaux arriere central (9) et le
panneau arriere supérieur (8) au chassis
assemblé de I'armoire. En partant du
panneau arriere inférieur, insérez les vis
M4 x 8 (19) dans les trous de vis de
I'ensemble des panneaux arrieres et
serrez-les a I'aide du tournevis (fig. ).

Remarque : Deux trous de vis pour protecteurs
de coin sont réservés dans les panneaux
supérieur et inférieur.

4.

Installez les pieds réglables (24) sur le
panneau inférieur (4) en utilisant la clé
plate (25) (fig. D).

Tournez le chassis de I'armoire en
position droite.

Choisissez la hauteur désirée pour placer
chaque tablette (5) a I'intérieur de
I'armoire. Puis, insérez les quatre
crochets crochets (13) dans les fentes
prévues, en vous assurant de tous les
placer a la méme hauteur. Glissez les
tablettes dans le chassis de I'armoire et
appuyez-les bas sur les crochets (7ig. £).

Fixez I'un des deux aimants (23) au
panneau supérieur (3) et I'autre au
panneau inférieur (4). Insérez deux vis
M4 x 8 (19) dans chaque aimant et
serrez-les a I'aide du tournevis (fig. F).

ARMOIRE HAUTE DE GARAGE EN ACIER 068-1221-8

J é Tall Storage Cabinet-068-1221_FR.book Page 10 Friday, September 6, 2013 1:56 PM

MC-681221-04

&
INSTRUCTIONS DE MONTAGE

)W

Y

MC-681221-07|

s

—h
Q

Mastercraft

AU

ﬁ%

&
7N

—%



%J‘% J é Tall Storage Cabinet-068-1221_FR.book Page 11 Friday, September 6, 2013 1:56 PM

L
L

8. Fixez les portes de gauche et de droite
(7) sur les cotés correspondants du
chassis de I'armoire. Insérez dix vis
M4 x 8 (19) dans les portes et serrez-les
avec un tournevis (fg. G).

E" % |
MC-681221-08

9. Placez le pare-chocs (14) sur le panneau
inférieur. Insérez quatre vis M4 x 18 & /@
(18) dans le pare-chocs et serrez-les e \ —
avec un tournevis. Puis, placez les '
protecteurs de coin A et B (15 et 16) sur
le panneau supérieur (3). Insérez cing
vis M4 x 8 (19) sur chaque protecteur de

coin et serrez-les a I'aide du tournevis
(fg. ).

10. Le meuble de rangement est prét a
I'emploi. Utilisez les clés (22) pour
verrouiller les portes de gauche (6) et
droite (7), si vous le désirez (fg. /).

MC-681221-10

INSTRUCTIONS DE MONTAGE

Mastercraft

N

ARMOIRE HAUTE DE GARAGE EN ACIER 068-1221-8

&
7N

- il



J é Tall Storage Cabinet-068-1221_FR.book Page 12 Friday, September 6, 2013 1:56 PM

Garantie limitée Mastercraft Maximum MP

Le présent produit Mastercraft Maximum est garanti pour
une période de cinq (5) ans & compter de la date de I'achat
au détail original contre les vices de matériau(x) et de

YE A R fabrication.

A Ns Sous réserve des conditions et restrictions énoncées ci-
dessous, le présent produit sera réparé ou remplacé (par un
produit du méme modéle ou par un produit ayant une valeur

LIMITED WARRANTY . R : o
DE GARANTIE LIMITEE égale ou des caractéristiques identiques), a notre discrétion,

pourvu qu'’il nous soit retourné avec une preuve d’achat a
I'intérieur de la période de garantie prescrite et qu'il soit
couvert par la présente garantie. Nous assumerons le co(it
de tout remplacement ou réparation ainsi que les frais de
main-d’ceuvre s’y rapportant.

La présente garantie est assujettie aux conditions et restrictions qui suivent :
a. un contrat de vente attestant I'achat et la date d’achat doit étre fourni;

b. la présente garantie ne s’applique a aucun produit ou piéce d’un produit qui est usé ou brisé,
qui est devenu hors d’usage en raison d’un emploi abusif ou inapproprié, d’'un dommage
accidentel, d’une négligence ou d’une installation, d’une utilisation ou d’un entretien
inapproprié (selon la description figurant dans le guide d’utilisation ou le mode d’emploi
applicable) ou qui est utilisé a des fins industrielles, professionnelles, commerciales ou
locatives;

c. la présente garantie ne s’applique pas a I’'usure normale ou aux piéces ou accessoires non
réutilisables qui sont fournis avec le produit et qui deviendront vraisemblablement inutilisables
ou hors d’usage aprés une période d’utilisation raisonnable;

d. la présente garantie ne s’applique pas lorsque les dommages sont causés par des réparations
ou des tentatives de réparation faites par des tiers (c’est-a-dire des personnes non autorisées
par le fabricant);

e. la présente garantie ne s’applique a aucun produit qui a été vendu a I’acheteur original a titre
de produit remis en état ou remis a neuf (a moins qu’il n’en soit prévu autrement par écrit);

f.  la présente garantie ne s’applique a aucun produit ou piece de produit lorsqu’une piéce d’un
autre fabricant est installée dans celui-ci ou que des réparations ou modifications ou
tentatives de réparation ou de modification ont été faites par des personnes non autorisées;

——,

s

—h
N

—
—
—_—
<L
oc
<L
(4>

Mastercraft

ARMOIRE HAUTE DE GARAGE EN ACIER 068-1221-8 Mm

%

%

&
7N



%J‘% é Tall Storage Cabinet-068-1221_FR.book Page 13 Friday, September 6, 2013 1:56 PM

b
(I%

g. la présente garantie ne s’applique pas a la détérioration normale du fini extérieur, notamment
les éraflures, les bosses et les éclats de peinture, ou a la corrosion ou a la décoloration
causée par la chaleur, les produits abrasifs et les produits de nettoyage chimiques;

h. la présente garantie ne s’applique pas aux piéces vendues par une autre entreprise et décrites
comme telles, lesquelles pieces sont couvertes par la garantie du fabricant s’y rapportant, le
cas échéant.

Restrictions supplémentaires

La présente garantie s’applique uniquement a I'acheteur original et ne peut étre transférée. Ni le
détaillant ni le fabricant n’est responsable des autres frais, pertes ou dommages, y compris les
dommages indirects, accessoires ou exemplaires liés a la vente ou a I'utilisation du présent produit
ou a I'impossibilité de I'utiliser.

GARANTIE

Avis au consommateur

La présente garantie vous accorde des droits précis et il se peut que vous ayez d’autres droits,
lesquels peuvent varier d’une province a I'autre. Les dispositions énoncées dans la présente garantie
ne visent pas a modifier, a restreindre, a éliminer, a rejeter ou a exclure les garanties énoncées dans
les lois fédérales ou provinciales applicables.

Mastercraft
4 ARMOIRE HAUTE DE GARAGE EN ACIER 068-1221-8

&
7N

4~ 4




	MC MAX STORAGE CABINET 068-1221-8_English (06 Sep 2013)
	MC MAX STORAGE CABINET 068-1221-8_French (06 Sep 2013)

